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Question 4GradeEOC

SubjectBiologyQuestion4Repo9 ]ng Category 2Mechanisms of Genetics: The student will demonstrate an understand]ng of the mechanisms of genetics. Knowledge and Skill The student knows the mechanisms of genetics, includ]ng the role of Statement Biology 6nucleic acids and the principles of Mendelian Genetics. Essence StatementRecognizes that the structure of DNA determines the inherited traits in organisms. Prerequisite Skilldescribe the differences between complete and incomplete metamorphosis of insects (5)



Presentation Instructions for Question 1

� Present Stimulus 1.

� Direct the student to Stimulus 1. Communicate: This diagram shows the life cycle of a grasshopper.

� Communicate the text in the life cycle. 

� Communicate: Find the life cycle of the grasshopper.

Stimulus 1

Life Cycle
of a Grasshopper

adult nymph

egg
*Scoring InstructionsStudent Action

Test Administrator ActionIf the student finds the life cycle of the grasshopper,�mark A for question66 and move to  question62.If the student does not find the life cycle of the grasshopper,�• • • remove the stimulus;wait at least five seconds; andreplicate the initial presentation6instructions.After the five-second wait time, if the student finds the life cycle of the grasshopper,�mark B for question66 and move to  question62.After the five-second wait time, if the student does not find the life cycle of the grasshopper,�mark C for question66 and move to  question62.





Scoring Instructions

Student Action Test Administrator Action

If the student finds the adult grasshopper in 
Stimulus 2b, � mark A for question 2 and move to  

question 3.

• model the desired student action by finding 
the adult grasshopper in Stimulus 2b and 

If the student does not find the adult 
grasshopper in Stimulus 2b, � communicate “This is the adult stage 

that is missing from the life cycle of the 
grasshopper”; and

• replicate the initial presentation instructions.

After teacher modeling, if the student finds the 
adult grasshopper in Stimulus 2b, � mark B for question 2 and move to  

question 3.

After teacher modeling, if the student does not 
find the adult grasshopper in Stimulus 2b, � mark C for question 2 and move to  

question 3.



Presentation Instructions for Question 3

� Present








